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QUESTION 1

The ORCL database has CONTROL FILE AUTOBACKUP and BACKUP OPTIMIZATION enabled.
TBS1 and TBS2 are the only user-defined tablespaces in ORCL.

USER1.EMP is a table in TBS1.

Examine these commands: From which files are modified blocks backed up?

% rmar. target /
EMAN>> BACKIP INCREMENTAL LEVEL O DATABASE:;

EMAN> EXTT
% sglplus / as sysdba

SUL> LPDATE userl.emp SEYT s5al=10000 WHERE eno=l1;
1 row updated

SQL> COMMTT?
Commit complete.

50L> ALTER TABLESPACE tbksl READ ONLY;
Tablespace altersd.

SQL>» exit
S rmar Largel

RMAN>> BACKUP INCREMENTATL IEVEL 1 DATABASE

A. SYSTEM, SYSAUX, UNDO, and TBS1 only

B. SYSTEM and SYSAUX only

C. SYSTEM, SYSAUX, UNDO, and TBS2 only

D. SYSTEM, SYSAUX and UNDO only

E. SYSTEM, SYSAUX, UNDO, TEMP, TBS1 and TBS2

Correct Answer: A
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QUESTION 2

Your database instance is running. db01 is a net service name. You issue a connection request using the
following command:

SQL> CONNECT scott/tiger@db01

Which component receives the request and establishes the appropriate connection?

A. listener

B. user process

C. service name

D. server process

Correct Answer: A

QUESTION 3

A database instance was terminated due to a lost data file and has not been restarted. You wish to restore database
availability by using the Data Recovery Advisor. Examine this list of RMAN commands:

1. startup

2. list failure all;

3. advicce failure alls

4. repair failure ncpromt;
5. altsr database ogen;

What are the minimum required commands and in what order must they be executed to achieve this?
A.1,2,3,4,and5

B.1land 4

C.1,2,3,and 4

D.1,3,and 4

E.1,3,4,and 5

Correct Answer: D

QUESTION 4
Which two statements are true regarding undo tablespaces? (Choose two.)

A. The database can have more than one undo tablespace
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B. The UNDO_TABLESPACE parameter is valid in both automatic and manual undo management

C. Undo segments automatically grow and shrink as needed, acting as circular storage buffer for their assigned
transactions

D. An undo tablespace is automatically created if the UNDO_TABLESPACE parameter is not set and the
UNDO_MANAGEMENT parameter is set to AUTO during the database instance start up

Correct Answer: AC

QUESTION 5

Which statement is true about loading data using the conventional path of SQL*Loader?

A. Redo is not generated while performing conventional path loads

B. Only PRIMARY KEY, UNIQUE KEY and NOT NULL constraints are checked

C. No exclusive locks are acquired when the conventional path loads are performed

D. Instead of performing transactions, SQL*Loader directly writes data blocks to the data files

E. INSERT triggers are disabled before the conventional path load and reenabled at the end of the load

Correct Answer: C
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